Calculus

Write your questions
and thoughts here!

1.13 Removing Discontinuities m

L f(x) =

Recall: What is a removable discontinuity?

}Ci_r)rg f(x) exists, but }CI_IE f(x) # f(c)

x%-1
x—1

Find the x-value of the hole. How do we find the y-value?

2
. If the function f is continuous for all real numbers and if f(x) = ad ;zw when x # —4,
then f(—4) =
x2-3x—18 X £6
. Let f be the function defined by f(x) =4 x-6 ’ . For what value of a is f
a, x=6

continuous at x = 6?
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f@3) =

x # —10, then f(—10) =




3. Ifthe function f is continuous for all real

x%2—5x+4

numbers and if f(x) = — when x # 1,

then f(1) =

4. If the function f is continuous for all real
x2+14x+48

x+8

numbers and if f(x) = when

x # —8, then f(—8) =

5. Let f be the function defined by
x2-2x-15 X £5
fG) =3 x5 :
a, x=5
For what value of a is f continuous at x = 5?

6. Let f be the function defined by
x%-16x+63
x +7

fa) =1 =7 .
b, x=17
For what value of b is f continuous at x = 7?

7. Let f be the function defined by

x%—8x
—, x#0
fO) =4 = :
cC, x=0
For what value of c is f continuous at x = 0?

8. Let f be the function defined by
x2-8x+15
—, x#3

f(x) = x-3 .
a, x=3
For what value of a is f continuous at x = 3?

9. Let f be the function defined by
x%+5x+4 X% —1
fx) = :

b(x+1) ’
b, x=-1
For what value of b is f continuous at x = —1?

10. Let f be the function defined by
x2-49

_—, -7
f(x) ={c(x+7) xF i
c, x=-7
For what value of ¢ is f continuous at x = —7?



11. Let f be the function defined by 12. Let f be the function defined by
sin(6x) 5sin(3x)

, x#+0 , x#+0
f(x) = 5x . f(x) = 4x .
a, x=0 b, x=0
For what value of a is f continuous at x = 0? For what value of b is f continuous at x = 0?
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2 -
13. Lety = %. This function has a hole. What is the y-value of the hole?

(A) 2 (B) 3 ©) -2 (D) O (E) -3

x2—(k+2)x+6

14. For what value of k will the function f(x) = P

have a point discontinuity at x = k?

A k=-1 (B) k=0 ) k=1 (D) k=2 (E) k=3



